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,QWDQ�3HUPDWD�6DUL����������������� 3HQJDUXK� 3HUFHLYHG� 9DOXH� 'DQ�
6DWLVIDFWLRQ 7HUKDGDS :LOOLQJQHVV� 7R�
3D\� 0RUH 3DGD� 6PDUWSKRQH� ,SKRQH
�6WXG\�0DKDVLVZD�.RWD�3DGDQJ�

3HPELPELQJ�����$EURU��6(��0(��3K�'

3HQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�PHQJDQDOLVLV������SHQJDUXK�)XQFWLRQDO�YDOXH�
WHUKDGDS VDWLVIDFWLRQ������SHQJDUXK�SULFH�YDOXH WHUKDGDS�VDWLVIDFWLRQ�����SHQJDUXK�
VRFLDO� YDOXH WHUKDGDS� VDWLVIDFWLRQ ���� SHQJDUXK� (PRWLRQDO� YDOXH� WHUKDGDS�
VDWLVIDFWLRQ�� ���� SHQJDUXK� VDWLVIDFWLRQ WHUKDGDS� ZLOOLQJQHVV� WR� SD\� PRUH�� -HQLV�
SHQHOLWLDQ� LQL� DGDODK� SHQHOLWLDQ� NDXVDWLI�� 3HQHOLWLDQ� LQL� GLODNXNDQ� GL� 8QLYHUVLWDV�
.RWD�3DGDQJ��3RSXODVL�GDODP�SHQHOLWLDQ�LQL�DGDODK�VHOXUXK�PDKDVLVZD�8QLYHUVLWDV�
.RWD� 3DGDQJ� \DQJ� PHQJJXQDNDQ� VPDUWSKRQH� LSKRQH�� 6DPSHO� \DQJ� GLJXQDNDQ�
VHEDQ\DN�����RUDQJ�GHQJDQ�PHQJJXQDNDQ�WHNQLN�SXUSRVLYH�VDPSOLQJ��-HQLV�GDWD�
GDODP�SHQHOLWLDQ�LQL�DGDODK�GDWD�SULPHU��'DWD�GLNXPSXONDQ�PHODOXL�NXHVLRQHU�GDQ�
GLDQDOLVLV�GHQJDQ�PHQJJXQDNDQ�SURJUDP�6PDUW3/6�YHUVL�������KDVLO�SHQHOLWLDQ�LQL�
PHQXQMXNNDQ� EDKZD�� ���� IXQFWLRQDO� YDOXH EHUSHQJDUXK� SRVLWLI� GDQ� VLJQLILNDQ�
WHUKDGDS�VDWLVIDFWLRQ������SULFH�YDOXH EHUSHQJDUXK�SRVLWLI�GDQ�VLJQLILNDQ�WHUKDGDS
ZLOOLQJQHVV� WR� SD\� PRUH�� ���� VRFLDO� YDOXH� EHUSHQJDUXK� SRVLWLI� GDQ� VLJQLILNDQ�
WHUKDGDS�ZLOOLQJQHVV� WR� SD\� PRUH� ���� (PRWLRQDO� YDOXH� EHUSHQJDUXK� SRVLWLI� GDQ�
VLJQLILNDQ� WHUKDGDS�ZLOOLQJQHVV� WR� SD\�PRUH� ���� VDWLVIDFWLRQ�EHUSHQJDUXK� SRVLWLI�
GDQ�VLJQLILNDQ�WHUKDGDS�ZLOOLQJQHVV�WR�SD\�PRUH�

.DWD�.XQFL� SHUFHLYHG�YDOXH��6DWLVIDFWLRQ��:LOOLQJQHVV�WR�SD\�PRUH�


